SSC GD Paper Held On
12 February 2019

Q.1 The starements helow ars fallowed by ran conchisinng labelad [ and 1T Assnming tar me informarion in the srArements
i3 true, even if it appears to be af variance with generally astablished facts, decide whizh conzhuzion(s) logieally and
defiitely follow(s) Eom the infrmation given in the wistemamis.

Sl aleme nis:

L. Al carsare tigers,
IL $ome children are tigers.

Caonchusions:

1. Some cars sre child-en
I Some children are cars

Ans X1 Only conclusion I follows
v 7 Neither I nor I follows
/< 3 Either I or II follows

X 4 Only conclusion II follows

Question D~ 9895808880
Chosen Option = 2

Q2 gealect the correct option that will fill in the blank and complete the series.

RQS.SOQ, TMO,
A N L XEY

< 2 SMN

v 3 UKM

X 4 ULP

Question 1D 989568088 68
Chosen Oplon . --

Q3 Select the correct option that will fill in the blank and complete the series.

35,42, 33 40, 31, 38,
Ans X 1. 31

N 233

v 29

X435

Queslion 1D . 98958088 81
Chosen Option © 3
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@4 Choose the option which completes the given figure series.

Question Figures:
|i 0 [Fx 10:4=ol
x o = 'K
1 E] 3 O s
A
ns XLOZ.
x

Question 1D - 98958088 87
Chosen Option : 4

@5 Find the missing number from the below options.

756 879
534 722

?

Ane X1 482
Xz 571
X 3562
v oam

Question ID - 9895808885
Chosen Option - 1

Q.6 Sclect the option that is related to the third term in the same way as the second term is related to the first fem
BAIIZnSQ:7
Ane X 1T
v HI
X 3RS
N X0

Question 1D - 9895808873
Chosen Option : 1

Q.7 Fou eptions have besn giver: out of wiich three are alie (n come mamer, while one i different. Choose the odd oo,

Ans 3 1.10-33
v?8-19
X39-30
Xa7-24
Ouestion I 9895808884
Chosen Option © 4
QB
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Seven chikdren A, B. €, D F, F and GG are scanding in 2 row. G is to the right of D and to the left of B A is on the right
of €. A and D have one child botween them. T s sacond to the right of G. D and F have twao childron botweon thom.

X
v
X
X 4

w =

Question 1D - 9895808877
Chosen Option 4

99 Which of the following answer figure will complete the given figure?

Question Figure:

Ans

X 1

]

X2

ORGE

Question I 98958088 88
Chosen Option : 4

Q.1 A piecs of paper is foldad anc aat a2 showm balow in the question figure. From the piven answor figures, indicata howr it
0 will apoear when opened?

Question figures:
——

— —

O3

el

¢

Ans

% 2

3

X< A

BB P D

Question 1D 9895808891
Chosen Option . 3
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Cl1-‘| In a certain code, SAMOA is coded as QZMPC, then how is GAMER coded in the same way?

Ans X 1. EZMFU
X ? EZMTF
X 3 EZTMF
v« EZMFT

Question 1D 98958088 74
Chosen Option © 4

Q.1 Choose the opifon hat most closely resemiles the wrimor image of the given Agure when mirror is placed al lef side,

2
Ans XL @

P < b

w@

Question |D . 9895808890
Chosen Option * 2

Q.1 The s 13 below are followed by two Iusions lnbeled Tand 1. 2 ing thas the infe fon in the
3 s e pven i appesrs o be sd varisnes with genemally exishliched flacts deeide ahich eomctisongs) Tngieatly sl
defmitcly follow(s) Fom the information given in the staterments.
SEaleme s
1. All S1ems are fowers.
0. Some flowers are trees.
I, Soma trees ar2 leaves
Coneclusions:
I Some siems are trees,
M. Scme flowers are leaves

v ' Neither I nor II follows
X 2 Only II follows

X 3 Only I follows

X 4 Both I and I follow

Ans

Question 1D . 9895808879
Chosen Optlion . 4

Q.1 Four werds have been given out of which thres ars alike in some manner, while cne is different. Choose the odd ons.
4

Ans X 1. Kilometer
X 2 Millimeter
v Ammeter
X 4 Decimeter

Question 1D - 9895808870
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I Chosen Option ~ 3

q_r;1 If ‘U’ means ‘-, "W' means ‘=, ‘T’ means ‘+’, and "V" means ‘", then:
33T77UILTL="?
Ans of 1100
X2 101
X 3110
< 1200

Question 1D - 98958088 86
Chosen Option - 1

Q.1 Selectthe option that is related to the thisd tarm in the szme way as the second fetm is related to the first term.
g Wood: Carpemter:: Irom @
Ans X 1 Goldsmith

X 2 Tailor

X 3 Farmer

v * Blacksmith

Question 1D - 9895808871
Chosen Option : 1

Q.1 Four letrer chisters have been given ount of which three are alike in some manner. while cne is differenr. Choose the odd

7 e
Ane of 1 LJKK
X 2 KLOI
X 3 STUO
X 4 BCIE

Question ID - 9895808869
Chosen Option - 1

Q.1 nacar exhibition, seven cars of zeven different compeniss viz Cardll. Card2. Car03. Cardd. Card®_ Cards end Cardi?
B wore displayed in o mow, facing nocth snch that
L Card 1 was to the (mmediate right of Car07.
E Cart7 was fourch 1o the right of Card3.
M. Car0d was between Car02 and Cards.
W Card3, which was tird tothe l2fl of CardZ, was af one of the ands

Whichof the Toflowing was the commeet position o T the Cans?

X 1 Between Car06 and Car07
«' 2 Immediate right of Car01
X 3 Between Car02 and Car07

Ans

< 4 Immediate left of Car06

Question ID . 9895808876
Chosen Option - 3

Q.1 Sclect the ophion thet is releted to the Third tenm in the same way as the sccond term ia related to the first torm.
9

37:6.:97.7
. X 05

X27

https: fissc.digialm.comiper/ig21/pub/220T touchstone/Asse ssme ntQP H TMLMode 1//220/01827/220701827577 DT2032/1552649578 711531011, 5/32



4/26/2019 https:/fssc_digialm. com//perig? 1/pub/2 207 fouchstone/AssessmentQPHTML Mode1//22070182 7/2207 01827 S770T2032/1 55264957
X309
v 38

Question 1D 98958088 83
Chosen Option * 4

Q.2 [ 5 row of men. Manish is 309 fron the right ard Kavit is 20% from the lafl, Whea they interchange thair position.
Manizh becomes SSiﬁomﬂieﬁFk.WhatisﬂlemimmbernfmmiﬂMnnﬁ’

Ans XLM
v 54
X334
X445

Question 1D 9895808878
Chosen Option © 4

“1'2 Select the correct option that will fill in the blank and complete the series.

12, 26, 54, 110, 222,
Ana € 1. 444

V' 446

X< 3 423

X 1452

Question 1D 98958088 82
Chosen Option © 2

Q.2 Inthe following diagram, there are three circles. Study the diagram carefully and answar the givan questions.
2

Find cut those teachers who are dociors but not Tndiars.
Ans x 1.2
X2s
v
xX4+7

Question 1D 98958088 92
Chosen Option * 3

@2 Select the related word pair from the given alternatives.

Novel : Novelist:
Ans X 1. Television : Journalist
X 2 Music : Dancing
v 5 Book : Author
& 4 Publications : Columnist

Question 1D - 9895808872
Chosen Option : 3
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[} J

92 Choose the option figure in which the problem figure is hidden / embedded.

Question figure:

i
TR

[

a

x o [ ¥

Question D 9895808889
Chosen Option * 3

Q2 If SMILEY is written as 41.5 and CRY as 23, how will LAPPY be written?
Amp: 3K 542

X230

<332

W35

Question |0 98958088 75
Chosen Option - 4

qé’ What will happen when an egg is placed in a vinegar solution for 20-24 hours?
Ans o 1 The egg shell will dissolve.

X 2 The egg shell will break.

< 3 The egg shell will shrink in size.

< 4 The egg shell will increase in size.

Question 1D - 98958089 35
Chosen Option - 1

@2 Who is the Chairman of the Rajya Sabha?
Ans 1 Ieader of the Opposition

< 2 President

X 3 Prime Minister

v 7 Vice President

Question I 9895808929
Chosen Option © 2

q!j is a dance performed in West Bengal for the Durga Puja at the time of Dussehra.
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Ans 1. Kikkli
X 2 Tera Tali
v * Dhunachi
X 4 Kolattam

Question 1D * 9895808919
Chosen Option - 1

%2 Which of the following is a correct food chain?
Ans X 1. Grass-deer-snake-lion

v 2 Grass-mouse-snake-hawk

X 3 Grass-rabbit-snake-lion

X 4 Grass-rabbit-snake-hawk-lion

Question 1D 98958089 36
Chosen Option ~ 1

Q3 Which of the following is NOT a Kharif crop?
Ans 1 Barley

X 2 Jowar

X 3 Maize

X 4 Bajra

Ouestion 1D 98958089 37
Chosen Option * 1

@ Which among the following countries is the largest producer of tea?
As o1 China

X 2 Turkey

X 3 India

X 4 Brazil

Question D~ 98958089 38
Chosen Option . 4

%’ Who wrote the famous epic poem Padmavat?
Ans X 1. Amir Khusrow

X 2 Khwaja Moinuddin Chisti

X 3 Abul Fazal

« 4 Malik Muhammad Javasi

Question 1D - 98958089 25
Chosen Option - 2

% Which of the following is the deepest landlocked port in India?
Ans X 1 Kandla
v 2 Vishakhapatnam
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X 3 Mormugao

X 4 Thoothukudi

Question 1D . 98958089 39
Chosen Option 2

033 Mayur Nritya or Peacock dance is a folk dance from the Braj region of :

Ans X 1. Andhra Pradesh
v 2 Uttar Pradesh
X 3 Odisha
< 4 Bihar

Question 1D - 9895808918
Chosen Option : 1

05-3 The Constitution of India contained how many articles at the time of commencement?

Abe. 0K 1398
X< 2 304
V' 395
X 4 392

Question 1D 9895808930
Chosen Option : 3

&3 The world's first underground railway system was started in ;

Ant o' London
X 2 Moscow
< 3 Washington
X 4 Paris
Question ID - 98958089 42
Chosen Option : 3
c!‘;’ Spinach contains unusvally high percentage of acid as a natural product,

Ane X 1 Tartaric Acid
X ? Lactic Acid
< 2 Citric Acid
v+ Oxalic Acid

Queslion 1D . 98958089 32
Chosen Option . 2

%} India’s longest elevated road is situated in
Ans o 1 Ghaziabad

X 2 Agra

X 3 Lucknow

X 4 Varanasi

[ |
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Question 1D - 9895808924
Chosen Option - 1

09-3 Which of the following countries has a better Gross National Income {GNI) than India?
Ars o' 1 Sri Lanka

< 2 Nepal

< 3 Bangladesh

X 4 Pakistan

Question 1D - 98958089 28
Chosen Option © 4

Q4 NSSO stands for:

Ans X 1. National Social Service Organisation
X 2 National Statistical Survey Organisation
/< 3 National Sale Service Organisation

' 4 National Sample Survey Organisation

Question ID - 9895808926
Chosen Option - 4

@4 What is the main purpose of water harvesting?
Ans X1 hold water on the surface of the earth
o' 2 recharge ground water
X 3 make dams
X 4 reduce soil erosion

Question I 9895808933
Chosen Option ~ 3

Q% The Buland Darwaza at Fatehpur Sikri was constructed by .
Ans X 1. Shahjahan

/< 2 Humayun

V' 5 Akbar

7 4 Jahangir

Question 10 9895808940
Chosen Option © 1

%" 2289 December is celebrated as
Ans 3 1. National Science Day

' 2 National Mathematics Day
3 National Technology Day
X 4 National Literacy Day

Question 1D . 98956808923
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I Chosen Option = 1

@4 Bleeding in dengue is due to a decrease in number of

Ane X1 red blood cells
< 2 white blood cells
X 3 plasma

W ¢ platelets

Question 1D - 98958089 34
Chosen Option 4

% The Second Round Table Conference was held in .

Ane X 1. December 1932
X 2 December 1929
X 3 December 1930
v ¢ December 1931

Question 1D © 98956808941
Chosen Option : 2

Q.4 Which fort in the Jaipur arca of Rajasthan is known for its artistic Hinda style clements and is alse a World Heritage site?
6

Ans X 1. Mehrangarh Fort
% 2 Chittorgarh Fort
' 3 Amber Fort
X 4 Gwalior Fort

Question 1D 98958089 20
Chosen Option © 1

@4 The Twelfth Five-Year Plan of India was from ;

Ane (1 2011 to 2016
7 2 2010 to 2015
V'3 2012102017
2 4 2013 102018

Question 1D - 9896808927
Chosen Option . 1

%4 Article 21A deals with the:

Ans X 1. Right to Constitutional Remedies
v:?

Right to Free and compulsory education to all children of the age of six to fourteen years
/X 3 Right against Exploitation
< 4 Right to Freedom and Religion

Question 1D 9895808931
Chosen Option . 4
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&% Who holds the current World Chess Championship title 20187

Ans X 1. Viswanathan Anand
' 2 Magnus Carlsen
X 3 Sergey Karjakin
Z 4 Fabino Caruana

Question 1D - 9895808921
Chosen Option . 2

Q.5 Asof November 2018, Mary Kom is the first woman boxer to win world championship gold medals.
0

Ans x|_7
X209
vié
X4

Question ID 9895808922
Chosen Option - 1

Q.5 1f A can compiete a work in 30 days and B can complete the same work in 20 days, then in how many days will A and
1 B together complete the same work?

Ane v ' 12 days
X 2 15 days
X 3 20 days
X 4 18 days

Question ID - 9896809058
Chosen Option - 1

Q.5 1he ratio of the numbsr of boys and girls in a school of 158 stecents is 3 : 4. How many new girls should join the school
2 sothat (be mtio of boys and girls becones 117

Question 1D - 98958090 53
Chosen Option 1

Q.5 A trader sells his goods al 10% discount on the marked price. How much should he keep the marked price of item to get
3 aprofil of 10%, when cost price is T 9007

Ane X1 T1rs
v'2 T 1100
X 331250
X4 T1275

Question 1D 9895800048
Chosen Option . 1
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Q5 Ao ofa shombue is 175 cm?. Longth of cae diagonal is 25 con, Whatia the kagth of othor diagonel?
At X 1. 12cm

v l4cm

X 3 10ecm

X4 15¢cm

Question 1D - 9895809063
Chosen Option . 1

Q.5 The difference between the compound imerss: and simple intersst on a certain sum at 10% per anmum for £ years is T 42
5 when the interest is compounded yearly. What 15 the sum?®

Ans X 1 T 8400
X2 ¥2100
V'3 4200
X+ ¥ 5200

Question 10 9896809057
Chosen Option © 1

as A person gels a profit of 2005 by selling an object on certain price. If fe sells it oo doudle of the price, then what will be
6 perceniage profit on cld selling price?

" o e62%
X 2 120%
X 3 100%
X 4 40%

Question 1D 9895809051
Chosen Option - 1

qi-'ﬁ There is a loss of 10% after selling an item for ¥ 72, What should he its selling price to get a profit of 397

Ane X1 Zss
X 2380
X 3387
v Ts4

Question 1D - 9895809052
Chosen Option 1

Q.5 e average of marss coorad by 40 studends was 150, Later on it was discovered thal ooe mark 165 was wrongly copied
8 a3 125.The comect averags is:

Are X 1162
X2 160
v 161
X % 163
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Question |D . 9895800047
Chosen Option * 1

Q.6 A tram passes a station platform in 36 seconds and a man standing on the platform in 20 secondls. 1f the speed of the
9 trainis 72 kiniph. whet is he length of the train?

A X 1120 metres
v 2 320 metres
2 3 360 metres
X< 4 240 metres

Ouestion 1D 98958090 61
Chosen Option : 1

Q° The range of 11,9, 18, 35,42, 26,4, 19, and 31 is:
Ane of 1 38

X226

X34

Xaa

Question 1D 98956800049
Chosen Option © 4

Q.6 [£ 4 boy walks frotn his house to sshcel at § knu/ar then bie :s lete by 30 minutes and if be walks at 12 kohs then he
1 reached on time. The distance of his school from his house is:

Ans X 1 10km
X 2 18km
X 315 km
v 4 12km

Question 1D - 9895809060
Chosen Option © 1

Q.6 Areetmngulor feld bae length of 1200 m and bresdth of $00 m. A road has to be made along it diagonal af the mt2 of
2 T 25 per m. What is the cost of maiing road?

Ans

2 1 25600
' 2 T32500
X 3 ¥ 35000
X 4 T 28400
Queslion |D . 98958090 62
Chosen Option * 1
Q.6

https: fissc.digialm.comiper/ig21/pub/220T touchstone/Asse ssme ntQF H TMLMode 1//220/01827/220701827577DT2032/1552649578 71153101/ 14732



472612019 hitps:fissc digialm.com//perig?1/pub/2 207 touchstone/AssessmentQPHTMLMode 1//2207 0182 7/2207 01827 S77072032/1 55264957

DIRECTHONS: These questions are based on the given pie chart The pie chart shows the monthly expenditure of Mr.
Sachin on vanous ieme. Study the chart and answer the given quasiions.

Expenditure

other, 24°

Fiueatian, 108

Saddnge, 459

LR

Expenditure on medicine i approxinately bow much percet of ofal sxpeaditure?
Ans o1 1333%

X2 12.5%

X3 14%

X 4 36%

Question D~ 9895809067
Chosen Option ~ 1

% What is the least perfect cube which is divisible by 5, 10 and 152
A X1 24000

X 2 21000

X 3 64000

v+ 27000

Question 1D 9895809043
Chosen Option - 1

qﬁ.a Simplify:
999 + |11 ¥ 0.5="2
Ans x 1. 500
X 2 555
X 3 1110.5
v 1 10545

Question 1D - 9895809044
Chosen Option . 4

Q.6 i rivio of the boys and zisls at & schools anaval fuaction was 1 © 2 but when 10 bays an L0 airls left, the raio
6  became 2: 5. How many students were at the annual function originally?

Ans X1 102
X284
X 3 9
V90

Question 1D . 98958000 54
Chosen Option . 1
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Q¢ Simplify:
4x12+699="2
Ans: K .60
X 2670
X 3 655
v 4 747

Question 1D . 9895809045
Chosen Option * 4

Q.6 60 Doys working 7 hours & day can do a work in 13 days Inhow many days will 23 boys working @ hours a day do the
8 same wodk?

Ans X 1 25 days
v 2 30 days
X 3 20 days
X 4 40 days

Question 1D 989568090 59
Chosen Option © 1

ogj 40% of a mumber 147.2. 25% of the same number is:
Ans X1 s8

X262

X 3 61

v

Question 1D~ 9895809050
Chosen Option 1

Q.7 DIRECTIONS: These questions ace based on the given pic chart. The pie chart shows the monthly expenditure of Mr
0  Sachinon vanous items. Study the chart end answer the given questions.

Expenditure

L
The vativ ol sav i and swhaclion is.

e X13:4
v21:3
X3 1:1
X42:3

Question D 98958090 66
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Chosen Option : 1

Q.7 DIRECTIONS: These questions are based o the given pic chart. The pie chart shows the monrhly expendinure of Mr.
1 Sachinon various iteme. Study the chan snd ancwer the given quesiions.

Expenditure

R, 964
If the monthly mcome of Mr. Sachm is T 43000 then his expenditurs on rent i two years are:

Ans X1 2308200
X 2 ¥ 148000
v 2307200
X 4 T 153600

Question 1D - 98958090 65
Chosen Option = 1

qz-? The average of even number from 10 to 20 is:
ARt 13

X214

X316

vils

Question 1D - 9895808046
Chosen Option . 1

Cla.? The vohime of a frusmim of a con= with racii 8 em and 10 coand height is 21 cm is® (Take- w= ?l

A W1 5368 cmd
X 2 4328 emd®
X3 6112 cm’
X 4 4816 em®

Question 1D . 98958000 64
Chosen Option = 1

Q.7 A surmofmoney is divided among A, B, © and D inl the ratio of 3 1 4 - 0 : 10 respectivaly. 17 the share 07D 1s T 3612
4 more than the share of A then whar {5 the tonl smount of meney received by A and D togather 7

Ans X 1 T 63568
v 2 6708
X2 Te8
X 4 T 6028

[ |
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Question 1D - 9895809055
Chosen Option - 1

05-7 “What sum of mensy will produce ¥ 120 interest in 10 vears at 5 %o per annum siple intersst{in ¥)?

Ars X 12350
X 2 ¥ 280
X 3 T 360
v T240
Question 1D - 98958090 56
Chosen Option - 1
Seciian | English Language

@1 Select the word which means the same as the group of words given.

An animal that lives by killing and eating other animals
Ans o 1 Predator

~ 2 Amphibian

X 3 Biped

X 4 Quadruped

Question ID - 9895809192
Chosen Option - 1

@2 Select the word which means the same as the group of words given.

Not connected with religious or spiritual matters.
Ane 3¢ 1 Atheist

2 ? Communal

v 7 Secular

X 4 Veteran

Question 1D . 9895809193
Chosen Option © 1

Q.3 Tdentify the segment in the sentence which contains the grammatical error from the given options.

Some people lose their eyesights because of a disease or injury
Ans 1 their eyesights

X 2 Some people

X 3 disease or injury

X 4 because of

Question ID . 9895809173
Chosen Option . 1
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Q.4 Identify the segment in the sentence which contains the grammatical error from the given options.

The sense of sight is one of the most importan: senses gifl to us,
A" X 1 The sense
X 2 is one of the
v gifttous
Z 4 most important

Question |D . 9895809172
Chosen Option ~ 1

Q5 Select the most appropriate word to fill in the blank.

A major earthquake  in India on 8 October 2005 in Uri.
Ans 3 1. has been occurring

v 2 occurred

X 3 occurs

X 4 is occurring

Question ID * 9895809178
Chosen Option * 2

@5 Select the synonym of the given word.

PRECISE

Ans X 1. Erroneous
X 2 Ambiguous
X 3 Inaccurate
v 4 Accurate

Question 1D - 9895809187
Chosen Option - 4

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Life of the people of the Amazon basin is slowly (1) . In the older
days the (2) of the forest could be reached only by (3) the
river. In 1970 the Trans Amazon highway (4) all parts of the
rainforest (5) ;

SubQuestion No : 7
@7 Select the most appropriate option that will fill in the blank
number 1

Ans X 1 simplifying
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X 2 steadying
v ¢ changing
X 4 modifying
Ouestion ID 9895809181
Chosen Option * 3
Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Life of the people of the Amazon basin is slowly (1) . In the older
days the (2) of the forest could be reached only by (3) the
river. In 1970 the Trans Amazon highway (4)  all parts of the
rainforest (5) .
SubQuestion No : 8
A8 Select the most appropriate option that will fill in the blank
number 2
Ans { 1 heart
X 2 core
X 3 thick
X 4 deep

Question 1D - 9895809182
Chosen Option . 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Life of the people of the Amazon basin is slowly (1) . In the older
days the (2) of the forest could be reached only by (3) the
river. In 1970 the Trans Amazon highway (4) all parts of the
rainforest (5) :
SubQuestion No : 9
A% Select the most appropriate option that will fill in the blank
number 3
Ans x 1 bOﬂﬁﬂg
+ 7 navigating
X 3 journeying
X 4 swimming

Question 1D - 98956800183
Chosen Option : 4
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Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Life of the people of the Amazon basin is slowly (1) . In the older
daysthe (2) __ ofthe forest could be reached only by (3) __ the
river. In 1970 the Trans Amazon highway (4)  all parts of the
rainforest (5) __ .
SubQuestion No : 10
%! Select the most appropriate option that will fill in the blank
number 4
Ans X 1 is making
/< 2 was making
v'© made
X ¢ make

Question 1D : 98958091 84
Chosen Optlion . 2

Comprehension:
In the following passage some words have been deleted. Fill in the

blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Life of the people of the Amazon basin is slowly (1) . In the older
days the (2) of the forest could be reached only by (3) the
river. In 1970 the Trans Amazon highway (4) all parts of the
rainforest (5)

SubQuestion No ; 11

“1" Select the most appropriate option that will fill in the blank
number 5

Ans 3 1 operative

X 2 restricted

v ¢ accessible

X 4 possible

Question ID - 9895809185
Chosen Option : 1

qi1 Select the most appropriate word to fill in the blank.

The great advantage of early rising is the good it gives us to our day.
Ans of i start

X ? humour

X 3 sense
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X 4 kick

Question 1D - 9895809197
Chosen Option : 1

Q! Select the antonym of the given word.

REVEAL

Ans X 1. Disclose
v 7 Hide
X< 3 Show
X 4 Praise

Question 1D - 9895809189
Chosen Option : 2

Q.1 Select the most appropriate opiion to substitute e underlingd segment in the given sentence, 10 ke i no need
4 substitate it, sckeet No substitution requived

When 1 plastic camb is rabbed with dry heir. they acquired 2 static charge.
Ans o 1 it acquires a

X 2 they acquire an

/X 3 it acquired

/< 4 No substitution required

Question ID - 9895809176
Chosen Option . 1

05-1 Select the most appropriate word to fill in the blank.

Tin cans. used for storing food. are made electroplating tin onto iron.
Ans X 1 with

v by

X3 to

X4 of

Question 1D - 9895809179
Chosen Option : 2

C'; Select the synonym of the given word.

VAGUE

Ans X 1. Definite
< 2 Incomplete
X 3 Precise
v ¢ Unclear

Question 1D 9895809186
Chosen Option . 3
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Q.1 Select the most appropriate option o substinute he underlinad segment in the given sentence. I there = no n2ed 0
T substitute it, sekect No substitution required
Canrying au umbiella is not at all a good idea Juing twudsistens,

Ans . . "

«' ' No substitution required

X 2 Carrying a umbrella

X 3 To carry the umbrella

X 4 Carry umbrella

Question 1D - 9885809177
Chosen Option : 1

Q.1 Select the most appropuate option to substitste the underlined segment 1 the given sentence. 1t there i no need w0
8 substitate it, select No substiation recuired.

Scizntific discoveries is often result of lard work by many people.
Ans X1 is result
v 7 are often a result
/< 3. No substitution required
X 4 are resulted

Question 1D . 9895809175
Chosen Option = 1

%" Select the meaning of the given idiom.

A man of spirit is
Ans X 1. A spiritual person
< 2 A unique person
v 3 A very courageous man
X 4. A very talented man

Question ID . 9895809191
Chosen Option - 4

Q2 Select the wrongly spelt word.
Ans X 1. Recommend

/X 2 Representative

< 2 Reception

v ¢ Ridicullous

Question 1D - 9896809195
Chosen Option . 1

°1'2 Select the wrongly spelt word.
Ans o 1 Suspicous

X 2 Schedule

X 3 Sustain
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X 4 Secretary

Question 1D 98958091 94
Chosen Option : 1

9? Select the antonym of the given word.

TREACHEROUS

Ans 2 1. Deceitful
v 2 Faithful
X 3 Disloyal
X 4 Unfaithful

Question 1D 98958091 88
Chosen Option - 1

Q.2 Select the most appropriate word to fill in the blank
3

The new textile policy kave greal emphacis on stabilizing cotton prices 1o the interest of cotion growsrs.
Ans o 1 protect
X 2 improve
X 3 raise

< 4 diversify

Ouestion 1D 9895809196
Chosen Option * 1

@2 Select the meaning of the given idiom.

Fool s paradise
Ans X 1. imaginary idea
X 2 foolish idea
o ¢ deceptive happiness
< 4 unexpected gain

Question 1D~ 9895809190
Chosen Option 4

Q.2 1dentify the segment in the sentence which contains the grammatical error from the given options.
5

Many Indian languages can be reading using the Braille system.
Ans > 1 using

' 2 can be reading

X 3 Many Indian

2 4 the Braille

Question 1D - 98956800174
Chosen Option © --
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tion - Hindi Language

M R T AT R F -
Ans J: By

X » g
X s

X< 4 =oT

Question 1D 9895807142
Chosen Option * --

B IS T eg F TAT FY
Are X1 FETER

X 2 EEaTY

X o gERR

v i ETETETT

Question 1D - 98956807150
Chosen Option © —

* frrm T F o F R 39gE 0= OITA

I|E__ e g
Ans ¢1ﬁa

X2 @m

X WS

X4+ T2

Question 1D - 9895807132
Chosen Option - --

* frrm T F A ¥ R 39gES 0 = oIwA

e aTET ST B
Ans xl ﬂ'

voF

X0 &

Xeq

Question 1D - 9895807133
Chosen Option © --

e T ST e ¢
Ans J1 ﬂ'FT
X 2 ST
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X 3 FeruT
X+ wit

Question I - 9895807143
Chosen Option © --

Comprehension:

Fratatas ey F Fs Ty i 9fF gz F @9 e
AT gl F HJER HfIC-

FAAT F TFAaE Fant £ fraw ae ELE:]
9Ica & TEaT § FEis 38 A ger @ REmumst &
-HTTY §FE 3R 358 (2) T T 3FET B
=T & Faed § & ag F=ar & o #ifes Raw se= F¥
oo svd (3) #r &THAT 3T TF| THA (4)
e & FEE AU TS €1 W §H FEE & WY
(5) BT HIA HAcd F AT F O A g

AN #iEsT 35== B
SubQuestion No : 6

*° argzmer # wHfaT e ww (1) ¥ R
TG =

Ans x_l 3@?
X2 gHRT
X e
v REa

Question 1D - 9BO6B071 36
Chosen Option © --

Comprehension:
rtafeE gy & fas wuEt $r 9fF sgznr & & e
T geA F AR HAfIT-

ST A T Rt $ Rrew T (1) =9 &
9TeT B TEar £ e 38 RAftew v & et a5
- TFEs 3R =S (2) T FT 3T A
[T & Fdcd ¢ &6 ag Faar & vdr \ifoe Per soa &
S 3wd (3) #r oTHAT 3T WF| TEA (4)
e F7 T FEAOr T 81 3R FH WEE & Ay

(5) BT T Fded FT TTold BT Al T FeeE
AT sfsT s5==« T

SubQuestion No : 7
Q.7
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TTET A Wahfad Red #ue (2) & o
Y g A
Ans ?(1 m
X2 AR
v e
X4 o

Question 10 9896807137
Chosen Option : --

Comprehension:

Pratates meamr & Res Tyt & ofF sgzrer F @9 fw
mmﬁtmﬁﬁt&

FFT F TANaS ar Fr fraw T ¥R
geT @ Wehar § a3 fAfdes v fr Semremmat &
sy gEEs 3R 39 (2) & & HTET B
5T & Facd ¢ & ag Saar & o #ifve Rer go= v
i aragcrar (3) #r &THAT AT WF| THH 4)
e & TER AT TS # WR FH TEE F Ay
(5) B I Fded F UTAA HT O AT=E

AT s 3=+ ¥
SubQuestion No : 8

O e #F @R Rew T (3) ¥ R
I9YFT A g

Ans x.‘ aﬁ
X 2 gam
v GHEHE
X ¢ faEEvT

Question |D . 9895807138
Chosen Option © --

Comprehension:
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afaf@a megir & Rea wuet £ 9fF gz & @ R
T g F HJER HfAC-

ST & TAlas auar @& few = OELE:]
greg @ Tdhar § FeiE 38 R e & REwunret &
A-HTg §HE HR 358 (2) FI= FT 398 B
=T F 40 ¢ & 38 791 # oFr #ifes [y e #:v
o 3EA (3) & &THAT FT WH| SEH 4)
R F FTEE AgEYUT TIE ¢ 3R A TEE F qY
(5) BT ITX FAT F 9TAA F4 O ATFRE

AT MfEST 35o= B
SubQuestion No : 9

) remmr & wHEE R ww 4) F Rw
I9YFT AT A

Ans x.] H.I.ﬁ.
v ufds
X 3 gquits
X4 Al

Question 1D - 9895807139
Chosen Option © ==

Comprehension:

Trlaf@a gy & Rea syt & 9fF gz & @ fe
T 9o F HFER HfC-

FET F TFATaE gt £ few S (1) ¥ &
9rea @ Wbl § Jaid 38 Afdes wer & Femummst &
SOA-HTTY FFEs AR 375 (2) A FT FIWT A
T & FaeT ¢ & I8 F=a1 & v #ifes fen swo= :v
o 3ud (3) F aHaT 3T TH| THA (4)
T F FEY AU T g1 W FH FEE & WY
(5) BT HIA Faed F UTaA FAT A AT=E

AT ST 35w B
SubQuestion No : 10

% e F T Rew o (5) ¥ Rv
3I9YFT AT A

Ans (dﬁ?
X? 3R=a
X3 erfaaemelt
X4 gRg

https: fissc.digialm.comiper/ig21/pub/220T touchstone/Asse ssme ntQF H TMLMode 1//220701827/2207 01827877 DT2032/155 2649578 1153107/ .

2832



472612019 hitps:fissc digialm.com//perig?1/pub/2 207 touchstona/AssessmentQPHTMLMode1//2207 0182 7/2207 01827 S77072032/1 55264957

Question 1D - 9895807140
Chosen Option © -

& HE #r T HEE w AT E -
MR i o

X 2 7% HLAT

X & 3Erw g

X 4 quifag

Question 1D 9895807146
Chosen Option © --

% ‘forder & faei e e Y
Ans o | FEOT

X 2 famar

X+ g

v g

Question 1D 9895807141
Chosen Option © --

S fev v T 7 9 ST W S A SR R

faofeat & el # Feat w1 A e
Ans X1 It @

v o et &

X 5w

X o Fedt F AE

Question 1D . 9895807125
Chosen Option ==

G rww A 0y 7 @ F BT T e -
Ans o\ IEERY

v FEEY

X 3 FHTARF

X« Ty

Question 1D - 98956807147
Chosen Option : --

%' WY S A o FT T
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Ao X1 v
X 2 anfae
v i
X+ 3

Question 1D~ 9895807149
Chosen Option . --

% R e arw F oA 6T e w2 3R
ﬁuﬂézmtmﬁnmﬁmqﬂaﬁﬂgﬁ

A X W s &
X? &
X o et aftmaa go
v Rod 3T TuE

Question 1D - 9895807126
Chosen Option . ==

Q1 R A # i U A SR w9 F R s A 5w
=&t & gl A #
Ans X 1. qRITERR
X 2 L=
X 3 guE
v REmeR

Question 1D . 9895807129
Chosen Option = --

qfﬁ??rwmaﬁmﬁa;%vmgaﬁemmmaﬁ
o gE F g w T TR TR

Ans € 1 UM
v R
X3 F:a
X1 37

Question ID - 9895807131
Chosen Option . --

S R v T w7 A o WA wY R F TR ¥
#X o AT S & wEAT F BT e swede smed )
K T weEE
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X2 3md €

v A s THemer St ¥
X ¢« mganT F @w

Question 1D . 9895807127
Chosen Option . --

%’ 5 =RoT @S 9T F ¥ Bv T a3
Ans > 1 FHIOT

X 2w

X 2 areETeE

v wfa

Question 1D - 9895807148
Chosen Option - --

& AT AT qErE w7 oA Y -
"X g T

X 2 farey Far

v B A

X 4 gHes g

Question 1D 9895807145
Chosen Option  --

Q2 fow v w7 i B8 W AR 75 F R s e 5o w6
3HF o A & aF TS ¢ |

A oy gy

X2

X o

v+ HFT

Question 1D - 98958071 30

Chosen Option © --

q‘f o T & = & B sege e & 9w w5

B = & o st wHE B @9 & 5% w1 T e I f
Ans xl wﬂv

X 2 Fife

v oak

X+ g

[ Question 1D 9895807134 ]
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Chosen Option © ==

% amr wr gatETer e -
Ans o 1 TEHTH

X2 %

X o R

X ¢ 3F

Question 1D 9895807144
Chosen Oplion . --

Q; R v T=n i I 1 e 52 ¥ B s B = oams =
% ¥UA F0 F gAd §

Ans X 1 IETH

X 2 |eH

v 5 TR

X 4 guaor

Question 1D - 9896807128
Chosen Option © —
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